Use case: Library has a hand full of
orders that they have partially paid for
because only some of the books ordered
arrived before the end of the fiscal year

Rollover encumbrance
based on remaining
amount

Fiscal year 1

PO Cost Before FYRO:
Unit Cost = $100
Quantity = 1
Total estimated cost = $100

Amount paid Before FYRO:
Sub-total = $40
Quantity =1
Total estimated cost = $40

Fund distribution:
AFRICAHIST = $50
AISIAHIST = $50

v

Encumbrance:
AFRICAHIST = $50
AISIAHIST = $50

Fund distribution:
—p AFRICAHIST = $20
AISIAHIST = $20

v

Payment:
AFRICAHIST = $20
AISIAHIST = $20

Fiscal year 2

PO Cost After FYRO:
Unit Cost = $100
Quantity = 1
FYRO Adjustment = 40
Total estimated cost = $100

Amount paid Before FYRO:
Sub-total = $60
Quantity =1
Total estimated cost = $60

Fund distribution:
AFRICAHIST = $30
AISIAHIST = $30

v

Encumbrance:
AFRICAHIST = $30
AISIAHIST = $30

Fund distribution:
—p AFRICAHIST = $30
AISIAHIST = $30

v

Payment:
AFRICAHIST = $30
AISIAHIST = $30

Fiscal year 3

Use case: Library has "Ongoing" orders
that remain open year over year. They
continue to pay for these as items are

received. As the cost will change
generally increase every year, they tend
to encumbere based on what was spent
and potentially add 1-2% for inflation.

Rollover encumbrance
based on expended
amount

PO Cost Before FYRO:
Unit Cost = $100
Quantity = 1
Total estimated cost = $100

Amount paid Before FYRO:
Sub-total = $90
Quantity = 1
Total estimated cost = $90

Fund distribution:
AFRICAHIST = $50
AISIAHIST = $50

v

Encumbrance:
AFRICAHIST = $50
AISIAHIST = $50

Fund distribution:
AFRICAHIST = $45
AISIAHIST = $45

v

Payment:
AFRICAHIST = $45
AISIAHIST = $45

PO Cost After FYRO:
Unit Cost = $100
Quantity =1
FYRO Adjustment = -10
Total estimated cost = $90

Amount paid Before FYRO:
Sub-total = $110
Quantity = 1
Total estimated cost = $110

Fund distribution:
AFRICAHIST = $45
AISIAHIST = $45

v

Encumbrance:
AFRICAHIST = $45
AISIAHIST = $45

Fund distribution:
AFRICAHIST = $55
AISIAHIST = $55

v

Payment:
AFRICAHIST = $55
AISIAHIST = $55

PO Cost After FYRO:
Unit Cost = $100
Quantity =1
FYRO Adjustment = 10
Total estimated cost = $110

Amount paid Before FYRO:
Sub-total = $110
Quantity = 1
Total estimated cost = $110

Fund distribution:
AFRICAHIST = $55
AISIAHIST = $55

v

Encumbrance:
AFRICAHIST = $55
AISIAHIST = $55

Fund distribution:
AFRICAHIST = $55
AISIAHIST = $55

v

Payment:
AFRICAHIST = $55
AISIAHIST = $55
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